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and loan capital, provided by an investor willing
to take a chance on the success of a small to

3 internal sources, such as reinvesting the profit the medium-sized business.
firm is making.

End of chapter exercises

2 share capital

1 Explain why the founder of a business is (d) Buying a new company BMW for the

: likely to care about keeping 51 per cent of the managing director. :

usliness i el 3 Why is retained profit the ideal source of §

: 2 Identify whether the following situations capital to finance growth? :

‘ : require short- or long-term finance. 4 Outline two possible advantages to an :
(a) Atoy shop buying extra stock for the investor of buying shares in a business rather

: Christmas period. than lending it money. :

H (b) Buying land nearby in case it is needed 5 Explain the difference between an overdraft

for expansion. and an overdraft facility. :

() Redecorating your restaurant.
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then advise balancing out the
rds, not relying too much on
too much on loans.
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Practice questions

Three years ago a young mum, Donna Morgan, yearly fixed costs. In fact, by the end of its first :
¢ started up her own business called Baby Suds. year Baby Suds had made a profit of £61,000.
: She invested £15,000 of her savings. A family With many other supermarkets queuing up
: member put in a further £30,000, taking 50 to buy its children’s shampoos, the business
: per cent ownership. The business idea was a appeared to have succeeded.

sing capital online from
irs [but not through the stock

1ts made to shareholders
s yearly profits. The
npany decide how large a
0 make; in a bad year they

ofit kept within the business
dends); this is the best
dr expansion.

ing finance by selling part-
usiness. Shareholders
lestion the directors and to
yearly profits.

1 a supplier provides
| to wait to be paid - for
> months. This helps with

combination of share capital

“ovided by an investor willing
i tha cuccace af a2 emall tn
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: range of affordable, fun children’s shampoos Total: 20 marks
i that are kind to the skin. They managed to find o . :
: a manufacturer who could produce the right 1 Outline one possible reason V‘{hY the_ :
¢ products. Their eventual product line-up was: f(r:;unders Onl‘/fuéeg sga;e capital to finance :
: ¢ Baby Suds Pineapple Shampoo and Detangler the start-up of Baby Suds. (2) 4

i & Baby Suds Tangerine Hair and Body Wash 2 e manufacturer i prod_uc_ed iz
H shampoos required to be paid in advance.

: ¢ Baby Suds Banana Shampoo and Conditioner Outline why it may not have been willing to :
¢ & Baby Suds ‘Kind to Eyes’ Baby Bath give Baby Suds any trade credit. (2)
i After an unsuccessful meeting with Asda, 3 Given the information about the :
¢ Waitrose proved much more enthusiastic and manufacturing costs of producing 200,000

i ordered 200,000 bottles. This required £40,000 bottles, calculate the cost per bottle to 3
¢ of capital to pay the manufacturer before the Baby Suds. (2
¢ bottles could be delivered to the supermarket. 4 Given the 15p profit per bottle, calculate 3
The business could (just) afford this but, when Baby Suds’ selling price to Waitrose. (2)
: sales took off, Waitrose placed a further huge 5 Evaluate whether an overdraft would be the

: order that‘made extra finance necessary. best way to finance any further growth at

: Morgan tried to sell more shares for £125,000, Baby Suds. You should use your knowledge

: but eventually borrowed the money needed. of the case study above as well as your :
With just 15p of profit per bottle, the business knowledge of business. 12)

: required sales of at least 500,000 to cover its





